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Questio er Specific Instructions

structions carefully before attempting questions :
both in HINDI and in ENGLISH.

Please read each of the foll
There are TWENTY questi

All questions are comp

%ed by a question/part is indicated against it.

Answers must.be titten in the medium authorized in the Admission Certificate which must be
stated clearl cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will®e given for answers written in a medium other than the authorized one.

The number of mar

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

e atam e § et B aEed (A9 B s w6
& ? WG A 3 R o gl # AR wieer 6 yfies w1 wheo S |
(150 wrsq} ¥ I Eifore)

Why is Public Private Partnership (PPP) required in infrastructural projects ?
Examine the role of PPP model in the redevelopment of Railway Stations in
India. (Answer in 150 words)

T SR Tt & =i guEayt fawm gwa § 2 yna § aniie R 6
it < forq focflar T & wewa o1 Sea@ HifT | (150 Isal § I )
Is inclusive growth possible under market economy ? State the&w lance of

financial inclusion in achieving economic growth in India.

(A@ in 150 words)

WA # Hreste fomr someft (f.€ua.) i wre g 239 form yR
TS qT TGS ST S FehdT ® 2 (150313&?13& )

What are the major challenges of Public Digtributign System (PDS) in India ?
How can it be made effective and transpare swer in 150 words)
A H @Te TR JE & FHrEaE %1 Ffawr guig Shifs |

Y\ (150 vt ® 3R Eifome)
Elaborate the scope and signif% of the food processing industry in India.

% (Answer in 150 words)
%ﬂﬁméﬁnﬁm&%ﬁzﬁmﬁqﬁm@ﬁﬁa@@nﬁ% | T8

& 3R 37 THIYM B FI1-HT el I3 T TITH § 2

\Q (150 vregi & IR ifor)
The incr@t life expectancy in the country has led to newer health
chal eS\ip’the community. What are those challenges and what steps need
to be takel to meet them ? (Answer in 150 words)

gl 1 wdg W 9l a¥ 9 A § Swedfd verd, do@w, W oA 9 € | 98
aerd o wpfess wfshanetl & qorar & fre@ 6 a8 s emeeaEe, S 9
3 AT IcuTel H gRafda & ST R 2 (150 weal # I i)

Each year a large amount of plant material, cellulose, is deposited on the

surface of Planet Earth. What are the natural processes this cellulose
undergoes before yielding carbon dioxide, water and other end products ?

(Answer in 150 words)
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Q7.

Q8.

Q9.

Q10.

Q11.

To% fmion, e 3R IR R HEe 34 gU Blerhtiehe Wi hi fredrgden ==
HifrT | 1999 F MIaT Tehiet I AT | (150 Teq) § I GHrT)
Discuss in detail the photochemical smog emphasizing its formation, effects
and mitigation. Explain the 1999 Gothenburg Protocol.

(Answer in 150 words)

AT 3uHeEEiy & ged § sred wed ot franfafy it wen =t awemsT | & a
Ierawt i ==t I | (150 wsal # I )

Explain the mechanism and occurrence of cloudburst in the e the
Indian subcontinent. Discuss two recent examples. (Answer, words)
Tt ol % YRR ==l i | TR ok W g Fifed

3TqY 3N ITdehariedl & e HaYl S Jui HIfT | P 7 I &)
Discuss the types of organised crimes. Descr? inkages between terrorists
and organised crime that exist at the %nal d transnational levels.

(Answer in 150 words)

wﬁag;ﬂgwgﬂiﬁm : g 4 gur & fag f R e,
el 3T gfshareas Hife | (150 It & IR i)
What are the m security challenges in India ? Discuss the

organisational, t® and procedural initiatives taken to improve the

maritime se Answer in 150 words)

‘mﬁmmmmﬁ@%mmgm% ” 58w
@ wafy afoey i vedrfaa FfT it o Iearewar & wwsitar fre fom
1feres UoTR Icafel # @™ &1 | (250 vegi § I )

“Economic growth in the recent past has been led by increase in labour
productivity.” Explain this statement. Suggest the growth pattern that will
lead to creation of more jobs without compromising labour productivity.

(Answer in 250 words)
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Q12. T AYh foar # wra ot Sl mEvEEA H 50 Ufewd WA, 9§ 2030 G
qﬁwﬁamﬁmaﬂﬁmmw%aﬁﬁwaﬁﬁaﬁmwﬁmﬁwé
afeiel Fere 30 Tl Sl widl § e I SRy off § few veR wEE
BT ? §HSTSY, | (250 Wedl # I ifrw)

Do you think India will meet 50 percent of its energy needs from renewable

energy by 2030 ? Justify your answer. How will the shift of subsidies from

fossil fuels to renewables help achieve the above objective ? Explain. 15
(Answer in 250 words)

Q13.mﬁ§ﬁm%ﬁwqﬁ3ﬁig@aﬁtmﬂg@ﬁmﬁ o
2?7 (250 wsgt H I &fo)
What are the main bottlenecks in upstream and % am process of

marketing of agricultural products in India ? (Answer words) 15
Q14. TAfhd HN ol T & 2 g § B2 3fk diwid %rqag%@lmms‘r
Fhdt 8 ? (250 wedl H I Afvw)
What is Integrated Farming System ow 18§ it helpful to small and marginal
farmers in India ? (Answer in 250 w% 15
Q15. 25 fewrr, 2021 i BigT TN aé?ﬁ@mmﬂﬁwmﬁﬁamganél
3oH Ut e i 3 THH UES & iy SR @ s
ATt 8 2 39 fimm &% %?Wﬁﬁ%%ﬂgﬂ%waﬂﬁamtﬁ
THhd & 2 (250 w2l )

Launched on 252, December, 2021, James Webb Space Telescope has been

ce then. What are its unique features which make it

much in the ne
superior to ecessor Space Telescopes ? What are the key goals of this
mission ‘7 otentlal benefits does it hold for the human race ? 15

ﬁ (Answer in 250 words)

Q16. IFHH 1 YR g F 2 2 I A HE @ § 2 Ffae-19 A H
fmtor 3g wRelte At fmfaredt 3 @ ughet s § 2 &

(250 wregi ¥ IR o)

What is the basic principle behind vaccine development ? How do vaccines

work ? What approaches were adopted by the Indian vaccine manufacturers to
produce COVID-19 vaccines ? (Answer in 250 words) 15
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Q17.

Q18.

Q19.

Q20.

e A (AfFEas aw) B ==t Hifve i Afvas Teay wosEs wwEl @@
Ioa@ HIT | T Dehicd, 1997 & 3Tl | TSl dTET T HROT s dreft
MEeE NGl & Sl HH HH & fau F=Eeor sur i aaemu | \

(250 vt § IR &)

Discuss global warming and mention its effects on the global climate. Explain
the control measures to bring down the level of greenhouse gases which cause
global warming, in the light of the Kyoto Protocol, 1997. (Answer in 250 words)

I H qF T9ET % HRON Td YUTET sl THIARY | Tal 1 JHEa HH P o0

IUSASY T TEEA TeheAloh o1 & ? (250 ¥eal § I Q)

Explain the causes and effects of coastal erosion in India. e dthe

available coastal management techniques for combating the ha ?
(An @50 words)

T guan & fafia a @ 8 2 | guan i gt # T@d gy aHen
Hifse foh v 3 6 3¢ 9% U U TP A TheTdTqdeh farehferd
21 (250 wisal A I o)

What are the different elements of c se@urity ? Keeping in view the
challenges in cyber security, exami extent to which India has

successfully developed a comprehengige Natidnal Cyber Security Strategy.

\ (Answer in 250 words)

JRIAATE Ueh TTHTRSh, T

FEIH IR BT 2 |39 H el it ==t Hife R Teacare & @R
¥ faed it sgeada o AfS | (250 et | I )
Naxalism is a socie bnomic and developmental issue manifesting as a
violent inte 8guwify threat. In this context, discuss the emerging issues
and suggest altilayered strategy to tackle the menace of Naxalism.

6 (Answer in 250 words)
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